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Final Exam

(You can omit any complete question or questions (Question I but not Question I part A) for 20% credit)

I. Answer both parts: 
(10 points)
A. Briefly explain in your own words what it means to say that one legal rule is more efficient than an alternative legal rule.

It means that changing from the alternative rule to that rule produces a net benefit, where benefit is measured by how much each affected person would pay to get the change (+) or prevent it (-).

B. What are arguments against economic efficiency? In other words, why might reasonable people sometimes consider the less efficient rule to be, on the whole, better than the more efficient rule?

1. Economic efficiency measures costs and benefits by willingness to pay in dollars. A dollar might represent different amounts of happiness (aka utility) to different people. And willingness to pay reflects what people believe benefits them, which might not be what actually benefits them.

2. Economic efficiency looks only at costs and benefits to people. Some people might think that justice also mattered, or that there were relevant costs and benefits that didn’t go to people--the cost to an animal of living a miserable life, the moral “cost” of doing bad things even if nobody was harmed, the cost to nature of replacing old growth forest with tree farms, and the like.

II. A railroad runs through farming country; there is one railroad company and a hundred farmers. The railroad's locomotives throw sparks which sometimes start fires, doing $100,000 worth of damage each year. The railroad company could prevent the fires by installing spark arresters on its locomotives at a cost of $70,000/year. The farmers could prevent the fires by switching from wheat to clover, costing them $50,000/year in lost income. Answer all parts.
(15 points)
A. What is the efficient outcome? (you may answer by circling the correct alternative in each pair)

Sparks or spark arrester?    Wheat or clover?  Resulting in fires or no fires?

B. No transactions are possible between farmers and railroad. What happens if:

1. The railroad is free to throw sparks.

Sparks or spark arrester?    Wheat or clover?  Resulting in fires or no fires?

2. The railroad must pay the farmers damages for the fires caused by its sparks.

Sparks or spark arrester?    Wheat or clover?  Resulting in fires or no fires?

3. The railroad must pay a fine to the government for the damage due to the fires caused by its sparks.

Sparks or spark arrester?    Wheat or clover?  Resulting in fires or no fires?

[This assumes that the railroad continues to throw sparks, expecting the farmers, who are not getting compensated, to switch to clover in order to prevent the fires. One could imagine it going the other way, but that requires the farmers to convincingly commit not to switch, in order to get the railroad to put on the spark arrester, which seems less likely]

In each case, is the result efficient?

1 and 3 are efficient, 2 is not.

C. Answer the same questions, assuming that transactions are possible and costless.

1. Sparks or spark arrester?    Wheat or clover?  Resulting in fires or no fires?
2. Sparks or spark arrester?    Wheat or clover?  Resulting in fires or no fires?
3. Sparks or spark arrester?    Wheat or clover?  Resulting in fires or no fires?
All are efficient.

D. Transactions are possible but not costless. What transactional problems, if any, might prevent the parties from getting to the efficient outcome in each case?

1. No problem--efficient outcome without transactions.
2. The railroad needs to pay the farmers to switch to clover. It can do this farmer by farmer, compensating the ones who do not switch for the damage--which still leaves them worse off than if they accept payment of more than $50,000/year to switch. Some bilateral monopoly bargaining problems over the amount of the compensation, but probably won’t prevent the efficient outcome.
3. We can get to the efficient outcome either as in part B, where the railroad keeps throwing sparks and paying fines until the farmers see the light and switch to clover, or as in 2 above. The railroad prefers the former, the farmers the latter, since it includes compensation. In effect, each farmer can impose a cost of $100,000/year on the railroad (by growing wheat) at a cost of $50,000 to himself (the cost of wheat + fires instead of clover). The farmers might or might not be able to use that threat to get some compensation from the railroad for the cost of switching.
III. Explain, for each of A and B below, what it is and why it does or does not lead to inefficient outcomes. 
(10 points)

A. Rent Seeking
Leads to inefficient outcomes because the individual is willing to bear costs in order to transfer to himself, but the transfer produces no net tain.

B. Pecuniary Externalities  

Do not lead to inefficient outcomes. My act produces external cost of X to one person, external benefit of -X to another, so no net externality. So my private net benefit (benefit-cost) is the same as the social net benefit, I act only if that is positive, which is the efficient choice.
IV. Insurance transfers the cost of some uncertain event, such as a factory burning down, from the owner to the insurance company. Considering only the issue of moral hazard, under what circumstances is this change an improvement? In other words, when is moral hazard a feature rather than a bug? 
(5 pts) 

Moral hazard is a feature rather than a bug when the person the cost is transferred to--the insurance company--is in a better position to take precautions to prevent the event than is the person the cost is transferred from. [That is an adequate answer. One could go on to give examples, or to point out that transferring half the cost may give both parties an incentive to take the most important precautions--ones whose benefit is much larger than their cost--and so be better than putting all the incentive on either of the parties.]

V. Answer either A or B below: 
(10 points)
A. What are the advantages and disadvantages of treating something—land, for example—as private property rather than as a commons? Give examples of situations where it makes sense to treat something as a commons and situations where it makes sense to treat something as property.

Treating something as private property provides an incentive to produce it, in order to have it for yourself or be able to sell it to others. It provides an incentive and mechanism to move it to the person who values it most and an incentive to take account of costs to it--the cost of overgrazing a field, for instance--in deciding how much to use it. 

These are reasons why ordinary produced goods, such as computers, should be property. If my computer is a commons that anyone gets to use, there is little incentive to pay the cost of getting it, or to properly maintain and take care of it.

But treating something as private property requires mechanisms, possibly costly ones, for allocating property rights, especially to unproduced resources such as land, for defining and enforcing those rights, and it requires transactions to let anyone other than the initial owner use the property, which may be costly. These reasons suggest that treating the English language as a commons, thus eliminating the large transaction cost of licensing each word before you use it, is probably sensible, even though it reduces the incentive to create and get into use useful new words.

B. What are the economic arguments for protecting inventions with patents, which have short terms and are hard to get, and writings with copyrights, which have long terms and are easy to get? 

Patents cover ideas, which have fuzzy boundaries, making it harder to define and enforce rights over them. Parallel invention is fairly common, so my inventing and patenting something may only mean that it becomes available a little earlier than if I hadn’t and someone else had, so giving me long term property rights may over reward me, giving me too much of an incentive to invent earlier. 

Copyright covers expression which, at least for traditional subject matter such as books, is well defined--you either did or didn’t copy a chapter from my book, and you know which, so costs of defining and enforcing are lower. The chance that two people will independently write the same chapter is very close to zero, so my writing and copyrighting a book means that it exists instead of not existing. To put it differently, might copyright does not significantly reduce your opportunities to write your own book, although my patent might significantly reduce your opportunities to make your own (very similar) invention.

VI. Answer one of the following: 
(10 points)
A. What does "efficient breach" mean? Describe one possible legal rule for damages and how it would lead to efficient breach.

It is efficient to breach when the net cost of breach to all parties is less than the net benefit. Put in different words, it is efficient to breach the contract if completing it costs, on net, more than it’s worth.

Expectation damages require the breaching party to compensate the other party for his loss due to the breach. So it is in the interest of one party to breach only if his gain from doing so is greater than the other party’s loss.

B. Should contracts made under duress be enforceable under all, some, or no circumstances? Explain.

Making such contracts enforceable can reduce the cost due to an act of duress, which is an advantage--I would rather pay a mugger $100 via check than be murdered, and most Chileans would prefer to replace dictatorship with democracy even at the cost of not punishing the dictator for crimes he committed during his rule. 

But making such contracts enforceable also increases the benefit to the one who imposes duress. There will be more muggers if what they can steal isn’t limited to what the victim has on him, and dictators will be more willing to commit crimes if they expect to end up with an enforceable guarantee that they will not be prosecuted for them.

It makes sense for such contracts to be enforceable where the first effect is large and the second small, arguably the case (for instance) with traditional parole arrangements, where a prisoner of war was left unguarded in exchange for his promise not to escape. It makes sense for them not to be enforceable in the opposite situation, which probably applies to writing a check to a mugger.

C. What is a "penalty clause?" Why might a rational individual agree to a contract containing one?

A penalty clause is a liquidated damages clause specifying damages considerably larger than the damage from breech is likely actually to be. In effect, it gives the other party a property right rather than a liability right against breech, so that in order for efficient breech to happen the party that wants to breech will have to get the permission, on some terms, of the other party. It makes sense in contexts where voluntary transactions between the parties are seen as a better solution to the problem than having a court estimate and enforce damages.

VII. You are drafting a contract on behalf of a client, specifying the terms of a joint project with another firm. There is some possiblity of unforeseen circumstances that might sharply increase the costs of the project.
(10 points)
A. What sorts of issues do you consider in deciding how to allocate that risk? Explain briefly.

Which party can best control either the chance of the problem or the size of the resulting costs? That party should bear the risk so as to give him an incentive to do so.

Which party can best predict the chance of the problem arising and/or its likely size? Making him bear the risk in order to reduce problems of adverse selection. The party that knows the risk bears it, the other party doesn’t bear it so doesn’t care, so each knows how much the contract is worth to him and can decide whether and on what terms to agree to it accordingly.

Which party is in the best position to bear risk, least risk averse.

B. Your law partner asks you what you are doing. You reply that you are trying to draft an efficient contract. He asks "Why? Shouldn't we just draw up whatever terms for dealing with such risks are most favorable to our client?" How do you answer him?

Making the contract more efficient increases the total benefit to the two parties. We can demand compensation for agreeing to changes that benefit the other party at a cost to us; as long as there is a net benefit the other party should be willing to pay more than our cost. So increasing the size of the pie should make it possible to increase our share.

VIII. Briefly summarize one of the following: 
(5 points)
A. Margaret Brinig’s explanation for why the custom of giving engagement rings became common when it did.

The tort action for breach of contract to marry made it possible for a woman to consent to pre-marital sex with her fiancee, which could lower her value on the marriage market to other partners, while being protected from the risk that he would back out of marrying her; it protected her against the strategy of seduce and abandon. State courts abandoned that action. An engagement ring provided as substitute, in effect bonding the fiancee’s promise, since the woman could keep the ring if he jilted her.

B. Lloyd Cohen’s explanation of the result of easy divorce on marital patterns, including female employment, timing of childbirth, etc.

In traditional marriage, women’s performance of their part of the contract is weighted towards the early years, men’s performance towards the later years, and women generally become less attractive as mates as they get older. Easy divorce opened up the opportunity for the man to reneg on the contract after the woman had done the hard part of her role--producing and rearing children--and before she had gotten the payoff of being supported on the higher salary her husband could expect later in his career. 

Women responded by specializing less in being wives and by spreading out performance via later childbirth.

C. What you think the correct explanation is for the sharp rise in illegitimate births over the past few decades, and the evidence for that explanation. You may, but need not, use one of the possible explanations discussed in the text.

My explanations are offered in the book; this asks for yours.

IX. Answer all of the three questions below: 
(10 points)
A. Why should there be no liability for coincidental causation (you stop to talk to a friend, he continues, a safe falls on him).

Because stopping your friend does not increase the probability of a bad outcome, so has no cost ex ante, and you have to make your decision on ex ante information. In other words, the negative effect is not foreseeable.

B. Why might strict liability be the right rule for ultra-hazardous activities, such as blasting or keeping dangerous wild animals as pets.

For such activities, an important precaution may be not doing them at all. The court cannot judge the efficient level of that, so can’t base negligence on it. By imposing strict liability, the court gives the actor an incentive to include the costs imposed on others by even careful ultra-hazardous activities in deciding whether to do them.

C. What does "negligence" mean in tort law as interpreted by economists.

Failing to take all cost justified precautions.

X. Drivers sometimes run over pedestrians. Some ways in which drivers and pedestrians can affect the probability of accidents can be observed and evaluated by courts; we will call them “precautions.” Some cannot--we will call them “activity level.” Possible liability rules for determining when the driver is liable for the damage include:
1. Strict liability

2. Strict liability plus contributory negligence

3. Negligence liability.

4. No liability

A. Briefly explain what each rule means. (back of exam or blue book)

1. Strict liability: The driver is liable to the pedestrian even if the driver took all cost justified precautions.

2. Strict liability plus contributory negligence: The driver is liable unless the pedestrian failed to take all cost justified precautions

3. Negligence liability: The driver is only liable if he failed to take all cost-justified precautions.

4. No liability: The driver is not liable to the pedestrian.
B. Which of the rules will result in drivers taking an efficient level of precaution?

All but 4. 

Which of the rules will result in drivers choosing an efficient activity level?

1 and 2.

Which rules will result in pedestrians taking an efficient level of precaution?

2, 3 and 4.

C. Pick one of the rules, and explain your answers to part B with regard to it. (back of exam or blue book)
(10 points)

Under rule 1, the driver bears all costs due to his actions, so has an incentive to take all cost justified precautions and an efficient activity level. The pedestrian bears no costs (assuming he can really  be fully compensated) so has no incentive to take an efficient level of precautions.

Under rule 2, the pedestrians will take the efficient level of precaution, so the driver will be liable, so the driver will take an efficient level of precaution and activity level.

Under rule 3, the driver will take the efficient level of precaution, so he will not be liable, so the pedestrian will take an efficient level of precaution but the driver will not take an efficient activity level.

Under rule 4, the driver has no incentive to take the efficient level of either activity or precaution. The pedestrian knows he will not be compensated for injury, so it is in his interest to take the efficient level of precaution to avoid it.
XI. Answer both parts: 
(10 points)
A. If catching and punishing criminals is costless, what is the efficient level of expected punishment? Why?

Expected punishment equal to damage done. This forces the criminal to internalize the externality, so he will only commit the crime if his benefit is more than the victims loss, in which case the offense is efficient and we don’t want to prevent it.

B. If catching and punishing criminals is costly, is the efficient level of punishment higher than the answer to part A, lower, or sometimes higher and sometimes lower? Explain briefly.

Sometimes higher, sometimes lower. We may make it higher to deter some mildly efficient offenses so as to save the cost of catching, convicting and punishing the offenders. We may make it lower to permit those offenses which produce a net loss smaller than the additional cost of making expected punishment high enough to deter them.

The former situation is associated with a more elastic supply of offenses; increasing punishment a little decreases the number of offenses a lot, and spending more per offense on fewer offenses then ends up with lower total expenditure. The latter situation is the other way around.

XII. Under our legal system, some wrongs are treated as torts and some as crimes. If we wished to have a system in which all offenses were treated as torts, what problems would arise and how might we deal with them?
(10 points)

1. If an offense is hard to detect and prove, the tort rule of “make the victim whole” produces an expected punishment much lower than damage done, so the offense will be under deterred. 

This could be dealt with my introducing a probability multiplier to the damage rule for such offenses.

2. If the cost of catching and convicting an offender is more than the damage payment received from doing so, it may not be worth catching him, so his offense goes unpunished and undeterred.

This could be dealt with by using precommitment to make deterrence a private good, along the lines of the associations for the prosecution of felons in 18th c. England. Alternatively, it could be dealt with by a system of state funded rewards for successful prosecution--but that leads to other possible problems.

3. If an offender is judgement-proof, cannot pay damages based on damage done, that reduces both the incentive to catch and convict him and the punishment, hence deterrence, if he is convicted.

Making deterrence a private good as above can solve part of this. Alternatively, the state could pay the difference between damages owed and damages that the offender can pay. To adequately deter, a criminal-style punishment could be added to the partial payment of damages.

Alternatively, legal rules could be altered to make defendants less likely to be judgement proof--in the extreme case, making organs forfeit for transplant.

4. The incentive to catch and convict in this system equals the amount of damages that will be owed (and paid), but there is no reason to expect this to result in the optimal combination of probability and punishment.

That problem can be solved by having the court set expected punishment not actual punishment--details in the book.

[I am not including the next round--the problems that might be raised by the solutions to the first set--since that’s more than I would expect in an exam answer].

XIII. Briefly explain the economic analysis of either tie-in sales or retail price maintenance (just one of the two). Include both the conventional incorrect analysis (and what is wrong with it) and a more plausible explanation of what is going on. 
(10 points)

Tie-in sales: Conventional analysis. IBM has a monopoly on card sorting machines, insists on customers using its cards so as to get a second monopoly, and a second monopoly price and profit, on punchards.

Wrong because the higher price of punchcards raises the cost of using the card sorting machines, so lowers the price that IBM can get for them. The second profit is coming out of the first.

More plausible: A high price for punch cards is a device for price discrimination--charging a higher total price (machine plus cards) to those who use the machine a lot and so are likely to value it more and be willing to pay a higher price than those who use it less. [Other explanations are also possible]

Retail Price Maintanence: Conventional analysis: Wholesaler sets a minimal price at which retailers can sell its goods so as to get a monopoly profit on the retailing, to be shared with retailers. 

Wrong because the wholesaler can push the retail price as high as he likes--to the price that maximizes his profit--by simply raising the wholesale price and letting the retailers compete down their margin.

More plausible: The wholesaler wants to give the retailers a higher price so that they will compete it away providing services that in part benefit other retailers (and, indirectly, the wholesaler) such as showrooms and advertising.

XIV. Discuss any one of the following questions:
 (5 points)

A. Why did victims of crime in 18th century England prosecute offenses?

1. They started prosecutions in order to be paid off by the defendant to drop them.

2. They prosecuted offenses to acquire a reputation for doing so in order to deter future offenses.

3. They pre-committed to prosecute, via membership in a prosecution association, in order to deter offenses against themselves.

B. How did the legal system of saga period Iceland deal with the problem of judgement proof defendants? Note that the problem is not only how to punish them but how to make it in someone's interest to prosecute them.

1. By debt thralldom, in effect involuntary indentured servitude, to work off the fine.

2. By outlawing someone who didn’t pay his fine, which gave offenders an incentive not to be judgement proof--for instance to borrow the money from friends and kin and then repay it over time.

3. By private deterrence as an incentive to prosecute even judgement-proof offenders.

C. Residents of Shasta County punish neighbors who violate local norms in a way which is costly for both the person inflicting the punishment and the person receiving it. Is there a reason why doing things this way is more important in that system than in an ordinary legal system?

Yes. Since the victim is in effect judge and jury, if the punishment he inflicts benefits him other people will reasonably suspect him of imposing it even when it is not deserved.

XV. Briefly explain all of:
(15 points)
A. what it means to say that one legal rule is more efficient than an alternative rule.
[Answered in I above. I seem to have carelessly asked the same question twice in this exam1]

B. The reasons to expect common law legal rules to be efficient. To be inefficient. 

To be efficient: Because maximizing the size of the pie is a widely shared value and may often be the only such that judges can achieve by the legal rules they create. Because inefficient rules generate litigation which may tend to change them. Because our legal system in part developed out of more competitive systems such as medieval fair courts.

To be inefficient: Because judges may think they can do other desirable things, because judges may care more about what they think is just, or which party they sympathise with, than about long run consequences of legal rules, because judges may not know what rules are efficient even if they want such rules. Because expenditures on litigation depend not only on efficiency or inefficiency of rules but on how concentrated or dispersed the interest groups are that want to change them.

C. Evidence for and against the claim that common law legal rules are efficient (answer briefly--two or three examples on each side are plenty). Extra points for examples not in the book.

[My examples are in the book--look at the last chapter]

Original Thought Question

[note: This question is a test of how well you can work out an economic problem for yourself; it is not directly related to anything in the course. A correct answer entitles you to only a few extra points, but a considerable amount of self-esteem.]

XVI.  Suppose a member of your class comes to me with a convincing reason why he cannot take the exam on the scheduled day. I agree to let him take the same exam on a different day. I am worried that if he takes the exam early, he might tell other students what is on it, and if he takes it late, one of them might tell him. 
(5 points)
Assuming that the students are motivated only by rational self-interest, which is more likely to happen? When should I schedule his exam?

If he takes it early, he has an incentive not to pass on information to the other students, since each of the others could then, at little cost, pass it on to his friends, and multiple people knowing it might raise the curve and lower the initial student’s grade. 

If he takes it late, any other student can pass the information to him at little cost. It will only affect one exam, and if I don’t tell my friend the information someone else might, with the same cost to me via the curve and with my friend annoyed rather than grateful at me.

So the latter problem is more likely to happen, and is an argument for giving the exam early.

